Exercise 12. Modify your 1D Newton’s method to find the basins of attraction of a interesting
(degree > 3) polynomial. Plot the basin of attraction as before, but now you will have to create
your initial value by z=x+iy. For the roots: either use a polynomial for which you know the roots,
or find the roots in advance, by using your own Newton solver.



MIT OpenCourseWare
http://ocw.mit.edu

18.S997 Introduction To MATLAB Programming
Fall 2011

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms



